Download Tech Of World App ~ WtsApp/Call- 8596976190

€ B & )

o

OTET P-1 EXAM QUESTION BANK (SUBJECT WISE & OTET P-2 EXAM QUESTION BANK (SUBJECT WISE &
SHIFT WISE PREVIOUS YEAR QUESTIONS & ANSWER SHIFT WISE PREVIOUS YEAR QUESTIONS & ANSWER
2021 To 2013) 2021 To 2013)
¥100-00 ¥79.00 ¥100:00 ¥79.00
Demo Pdf (OTET PAPER-1)- Download Demo Pdf (OTET PAPER-2)- Download
Validity- 1 Year... Validity- 1 Year...

more

ADD TO CART

ADD TO CART

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

A

f ﬂmﬁg dal u@agj 654l Odisha Teacher Eligibility Test
@ BOARD OF SECONDARY EDUCATION, ODISHA
NS GuTTAGK-1 Grievance View response Logout
Create
Paper- 2
we  GEENNGEE® Date- 18-Aug-20109
Roll No - -
Shift- 3rd
Subject Paper 2
QID : 3601 - Vygotsky sees as a means for children to plan activities and strategies and

therefore aid their development.

RIJIQE NQ° QERTE QIR FEQ Ui UREEIIG g RIAIRE diel 99 FIIF QIEL 6QEIT 9e° IQI
ARG GRI56Q AIRIY F6Q. |

Options:

e 1 €CHOTWOTId. IN

geeag §o

2) Public speech
a]R QR

3) Silent inner speech
fee aIigas g

4) Social speech
an@e ge

Correct Answer: 1) Private speech
9960 g

Candidate Answer: 4) Social speech
AR §e

QID : 3602 - Piaget proposed stages of cognitive development which reflect the increasing
sophistication of children's thought.

TRU6RQ 6QIET QPRGN ________ 008geaa 9419 60xgsR A9l JRIFINE Q8 AIaejel @5 0! 61§
goTRe QRN |
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Options:

1) eight
dlo

2) six
22l

3) three
o0

4) four
QIR

Correct Answer: 4) four
=l

Candidate Answer: 4) four

" Techofworld.In

QID : 3603 - During stage of Erik Erikson's theory of psychosocial development, the infant is
uncertain about the world in which they live, and looks towards their primary caregiver for stability
and consistency of care.

QR AR & AERIEIRING a1 P8 AFIER, Gig] 64F1I6R QLI ) FVAER AR &N, Q°
gdael ¥e° Aaga 1Q AiEl JPIfe QI6e 07 6AQ2QI @47 AR FLA K6R |

Options:

1) Intimacy vs. Isolation
ARGOI QRIF EAREI 624!
2) Initiative vs. Guilt
JdL6e8d Q@I Adaul

3) Trust vs. Mistrust
919 QA1 A6

4) Autonomy vs. Shame
AA6lide Q@RI R

Correct Answer: 3) Trust vs. Mistrust
QgId QAIA A6

Candidate Answer: 3) Trust vs. Mistrust
R4IT RAIN A6

QID : 3604 - Mind in Society is written by .

AQg e eaaRs & QIsY EREIQIRG |
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Options:

1) Sigmund Freud
doI1g) aQ

2) G. Stanley Hall
®. YRR 2R

3) Jean Piaget
@Q Qaeeq

4) Lev Vygotsky
eme) @IQGQIG‘Q

Correct Answer: 4) Lev Vygotsky
6MQ QRGBT

Candidate Answer: 1) Sigmund Freud

" Techofworld.In

QID : 3605 - A child of 8 years is said to be in stage according to Jean Piaget.

6q JaI6eg & 06 8 oda &g Q8160 2N 6QIR QRIAN |
Options:

1) formal operational
AR 2A6QARIR

2) pre-operational
J-21a6Q9RIm

3) concrete operational
RFQ AUQARIR

4) sensorimotor
6Q6RIAEAITR

Correct Answer: 3) concrete operational
PEQ AURIARIN

Candidate Answer: 3) concrete operational
PFQ 2AT6RARIN

QID :3606-Accordingto____ | Social development means the attaining of maturity in
social relationships.

& 10 294l6Q, AR BRI8l AR AR ALFYP6R AU AR @RS |
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Options:

1) H.E. Garret
\Q.R.66160Q

2) Erik Erikson
\0Q 9QaR
3) Jean Piaget
oq daleeg

4) E.B. Hurlock
2.9 Q6mQ

Correct Answer: 4) E.B. Hurlock
Q.9 EMI

Candidate Answer: 2) Erik Erikson
6Q QAR

Techofworld.In

QID : 3607 - According to Vygotsky,_______is the main means by which adults transmit
information to children.

QURCEITF AG6Q, 6208 g6l A, A9l QI @AgAIer IRIAIRG oR! 9RIe @Rl |
Options:

1) language
WIS

2) reading
agel

3) literature
Qgey

4) listening
géiQl

Correct Answer: 1) language
WU

Candidate Answer: 1) language
WU

QID : 3608 - happens when the existing schema (knowledge) does not work, and needs
1o be changed to deal with a new object or situation.

6060606 49Q 2@ GrIl (RIR) RIF AR REIN Q° g2l AIAGT &g AAFE 92 oIr 620! AR ARRER 629!
AQEP QRN 6AECEQRER _________6QIRRIN |
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Options:

1) Assimilation
agee

2) Accommodation
gaul

3) Equilibration
Q@G‘Q

4) Adaptation
299

Correct Answer: 2) Accommodation
gaul

Candidate Answer: 4) Adaptation

~ Techofworld.In

QID : 3609 - Success of Initiative vs. Guilt stage of Erik Erikson will lead to the virtue of

OQ YARAR & J96Ad Q@RIF 2AQR 9REIR ATFRG! 2egip 9 @@ |
Options:

1) Hope
algll

2) will

&

3) Purpose
Q666N

4) Love
6061

Correct Answer: 3) Purpose
Q6L

Candidate Answer: 1) Hope
2isll

QID : 3610 - The Russian psychologist____ argues that the development of language and
thought go together and that the origin of reasoning is more to do with our ability to communicate
with others than with our interaction with the material world.

QU1 FERIETRIR I 997 64, AAQ IRIE 9@° 9RI0 2y P AR 571 G Bl AAQIQ Qg
6RQR, 2R AIEe PEIE A2 QIEIRT PRRIEA ARIAIRE I 6AICICAIT AAQIER 2IFl @FFI OIQ 2@ 78 @QQ! |
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Options:

1) Sigmund Freud
dene gae

2) G. Stanley Hall
®. Yocm 2R

3) Jean Piaget
& Gaeeq

4) Lev Vygotsky
6MQ ARECISE

Correct Answer: 4) Lev Vygotsky
6RQ ARECITE

Candidate Answer: 4) Lev Vygotsky

6RQ QURELNEE
QID : 3611 - theory, students learn most effectively through reading text and lecture
instruction.

2JBQ6Q, RIGFIER 659 0@ 19° 6AQA PEEEINRT ARIFER ZRIQ JRUQEIRT AIER &gelF |
Options:

1) Humanism
QIABEA

2) Cognitivism
RGeHRaA

3) Constructivism
REARRA

4) Connectivism
REAREERA

Correct Answer: 2) Cognitivism

ESale]

Candidate Answer: 3) Constructivism
FeReRq

QID : 3612 - If any action is repeated by an organism in certain condition, learning occurs. This is
known as

A8 6aleld O8Y AAg06a 6161d @I QIRAIQ 6RILRUAN, SEQI RITY 6RIRRIN | 921G
el |
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-
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Options:

1) law of use
QIQRIG 1A

2) law of disuse
2| @1L

3) law of effect
dRUe @1

4) law of readiness
gg@a 161

Correct Answer: 1) law of use
QIQRIQ R

Candidate Answer: 1) law of use

QLI PTAF
[ echofworld.In
QID : 3613 - Portfolios could also be assessed during its development as a assessment.
6QICECmA ORISR QIR YRIQ FQIE ACLEA AINRE QAR AR |
Options:

1) prognostic
621661 R

2) diagnostic
QIR6QIFR

3) summative
A6AER

4) formative
(e[l

Correct Answer: 4) formative
FeAGQ

Candidate Answer: 4) formative
TEcR

QID:3614-__ s the characteristics which appear to measure those which are actually
sought to be measured.

6208 Q66180 AR AMYIEe 629108 RGN, IR JQE6R 2IRRE @GR! @l AAITR! 21Q6He |

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) Predictive Validity
6J0QQ 6QUO

2) Face Validity

de 6duel

3) Concurrent Validity
PRPEAE, 6GAG!

4) Criterion-Related Validity
PIRECAAR - APVIC, 6SUB!

Correct Answer: 2) Face Validity
e 6auo!

Candidate Answer: 1) Predictive Validity

600QQ 630!

[ echofworld.In
QID :3615- method uses two versions of an instrument given to the same sample of
respondents.

eI QIR AIPIR ARG FAIVIRYR 66IGN AIRREIR QA6 A°Yas QIR @GN |
Options:

1) Test-Retest

66q -Qeeq,

2) Equivalent-forms
AAGRY A

3) Kuder-Richardson
Q0Q QeIFaR

4) Split-half

2l QUel G]‘GI@ |

Correct Answer: 2) Equivalent-forms
AR Qa

Candidate Answer: 2) Equivalent-forms
AR Qd

QID:3616- means the state or quality of being true even outside of a subject's
individual biases, interpretations, feelings, and imaginings.

el 626& Q13610 QFI0R, @IS, QPRI Ye° @RA QI2I6R O] 62918 §6 &4 gaeal |
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Options:

1) Validity
6QUG!

2) Usability
Qdediehel

3) Objectivity
ACRFEE

4) Subjectivity

APERPEC’

Correct Answer: 3) Objectivity

ARG

Candidate Answer: 2) Usability

Qdedlen!
[echofworld.In
QID : 3617 - The Assessment become when the information is used to adapt teaching and

learning to meet student needs.

6606960 SIRRIRIR 2IQEIR0I a8 @Re| A SMIRIR Ye° FIRIgRE @RRlg JOR QIRLIR 6QIRRIN
6960696m FRIITH 62IR2IN |

Options:

1) prognostic
pEY

2) diagnostic
QIReEIFR

3) summative
a6geR

4) formative
xR

Correct Answer: 4) formative
aAeR

Candidate Answer: 2) diagnostic
QIR6EIFR

QID: 3618 - is a paradigm approach that believes learning is viewed as a personal act to
fulfil one's potential.

6208 gonIR QF6aIs 119l g9 @6a 64, SINIgRE 6208 REFQ AFGI @ AALR! I8 Alsl &
Q4Qe0 @Iy |
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Options:

1) Humanism
QIAIRRA

2) Cognitivism
QGeHa

3) Constructivism
el

4) Connectivism
R6RFAERE

Correct Answer: 1) Humanism
IA1R6

Candidate Answer: 3) Constructivism
k|

Techofworld.In

QID : 3619 - Which among the following is not a source of qualitative data?
f6rlg FQ 6RGE QeI 624a ag 96w ?
Options:

1) Interviews
QY@

2) Postcards
601 @1

3) Focus Group
Eailalaloh|

4) Surveys
Q6]

Correct Answer: 4) Surveys
Q64

Candidate Answer: 2) Postcards
601G 16

QID : 3620 - Gordon W Allportdefinedan_____ to be a mental and neural state of readiness,
organized through experience, exerting a directive or dynamic influence upon the individual's
response to all objects and situations with which it is related.

66Q 09 AMEAIS @16 @AY 6208 9g0 6201a AIRTR ¥6° QAR g6, A2l 2QRNG! AIFER
EEFPo, QIR QI A1 AAY QNG I9° AAE0 ARl @160 JORL QU6A ARG &Y IRAIFR JQIQ RIg
@6Q |
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Options:

1) attitude
549

2) assessment
AN@Q QI IS
3) achievement
2am @A

4) aptitude
6@l6IR @l 62160

Correct Answer: 1) attitude
2ATYL

Candidate Answer: 1) attitude
215949

Techofworld.In

QID:3621-_____ function of evaluation discovers potential abilities and aptitudes among the
learners.

aRiIee QI SiRIhe CrIEQ AAIRE QRIOI 9e° 6RIEIR AIRYQ Q. |
Options:

1) Predictive
QAN Qo

2) Administrative
gelIaRe

3) Placement
Falalsa |

4) Guidance
IRoIQ

Correct Answer: 1) Predictive
QAN go

Candidate Answer: 4) Guidance
IRSIQ

QID : 3622 - In respect of vocational-technical education evaluation, Olaitan (1996) identified the
evaluation models.

6QALR - 609N &8I APRE AOWER, BRINGIR (1996) RIIFS F6eR 096 fRREM |
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Options:

1) seven
()

2) six
Qd

3) three
o0

4) four
QIR

Correct Answer: 4) four
eIR

Candidate Answer: 4) four

Techofworld.In

QID : 3623 - is also known as solipsism.

Q 6QINTRF 6QIM A1 RENAN |
Options:

1) Subjective Idealism
AQERQR 2IREIRIQ

2) Absolute Idealism
alieediig 2R

3) Platonic Idealism
Q651RR BIQeiQle

4) Transcendental Idealism
Gl6Q6R4lIR AREQIQ

Correct Answer: 1) Subjective Idealism
AQERQR 2IQEIR

Candidate Answer: 1) Subjective Idealism

AQERRQ AREIRIQ
QID : 3624 - CIPP model of curriculum developmentis a processof ____ the curriculum.
dI0YeA 9IS QCIPP AlI60R 6208 AIOYQAQ g9 |
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Options:

1) creating
Qa1 @RI

2) developing
ARI8 @GR

3) rearranging
Je8eiede @t
4) organisation
a°clOf

Correct Answer: 2) developing
ARl @R

Candidate Answer: 2) developing

QRIE QR

[echofworld.In
QID : 3625 - Standardized tests is an example of assessment.
YEOIRR 66 6208 ARIFERQ QRILQE |
Options:

1) Prognostic
60166 qa

2) Diagnostic
QIR6q IR

3) Summative
a6EeR

4) Formative
AR

Correct Answer: 3) Summative
a6EeR

Candidate Answer: 3) Summative
aA6eR

QID : 3626 - Which curriculum is comprised of ideas offered by policymakers, school officials,
administrators, or politicians?

626 AI0Y9¢ AN 1R @829l 4, TR, RIJIREI, JaIARe QFPIR B AIRERFIF JOa F0IQ § 6PR
c0e ??
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Options:

1) Societal
6QITIGIR

2) Rhetorical
QECIDIR

3) Null

a4

4) Phantom
Fl6E)el

Correct Answer: 2) Rhetorical
QECIDIR

Candidate Answer: 1) Societal

6QITNGIR
[echofworld.In
QID : 3627 - The function of evaluation is to plan appropriate and adequate learning
strategies.
ISR QAR Il 6208 Qage 1e° aduig &8I 6Rl6IR 6QI9R1 Q4! |
Options:

1) Instructional
fedage

2) Administrative
geIafe

3) Placement
Ealalseh|

4) Guidance
[fataly

Correct Answer: 1) Instructional
ReaeIge

Candidate Answer: 2) Administrative
Qe1a6e

QID : 3628 - assessment includes exit tickets.

ARIFR 2QER 6268 IQRQ F6rG |

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) Prognostic
6016Q1R

2) Diagnostic
PIR6qIRR

3) Summative
a6geR

4) Formative
TFITR

Correct Answer: 4) Formative
FAER

Candidate Answer: 3) Summative
asge

Techofworld.In

QID : 3629 - Instructor’s role is to be primary information giver and primary evaluator in
learning.

@a160 QARew QA 6208 JIaIFe gor! 4RIReIRT e JIRIAe ARIFRLIR |
Options:

1) teacher-centred
S -6aa10,

2) student-centred
QG- 621

3) subject-centred
AP6EQ-6a4160,

4) content-centred
Qa6 62910,

Correct Answer: 1) teacher-centred
fae -6aQ10,

Candidate Answer: 2) student-centred
2I5- 69914,

QID : 3630 - The key aspect of is that it is achieved through cognitive processes, rather
than interactions with the outside world.

QIRIQ @RI Q80 R2IQIEI ARREE 6Q1IEE Q1Y JRER QAR RAQI 62QR I2IQ 6t QFERI4!
|
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Options:

1) classical learning
ieMae &gl

2) insight learning
298Qq Sial

3) observational learning
A6 AR, Sl

4) latent learning

2gae aal

Correct Answer: 2) insight learning
2989q Sial

Candidate Answer: 2) insight learning
2989 diml

Techofworld.In

QID : 3631 - UL FelR6E6l B¢ AIIAR RIGE 1@ g2l AdIe @Idig 98! ARl A Q1Y Alel -————a RIR
JIe @RI |

Options:

1) SIRIGRT

2) QYIQQ8l

3) aoe

4) Qe

Correct Answer: 2) Q@Qél

Candidate Answer: 1) ¢QIQ®"

QID : 3632 - RRGE AUQ 6RETY U@ 6IGIEAIT QASIA §6l Q6A F6RER! FQUAIRRIN ?
Options:

1) IRQEICE VG|

2) Y665 0RO

3) 6AdGRGaYR Qe

4) 6RIRIgRIQ OFE!

Correct Answer: 4) 6QIRIQRIA QNG

Candidate Answer: 3) 6adGRFATR AN
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QID : 3633 - PR FUQ 6RG0Y Y@ AFRFR A10 AQER F6RER! @QUAN?
Options:

1) 2190« 678l

2) Q194 698l

3) Q4 MIR
4) QA6 Qg

Correct Answer: 3) Q€Q MG

Candidate Answer: 4) Qaealy 979

QID : 3634 - 6A51RGRARY ——— Q6d A°RI QIR @QUAIRAN |
Options:

1) "0QQI AQR6R &l"

2) "9ge fagea 69"

3) "d0R Qgeeq AOR”

4) "8i%61 AgIR6R GiE”

Correct Answer: 4) "686 Qge6a 86"

Candidate Answer: 2) '09Q a06Q 5gR"

QID : 3635 - ————Q AQAIA FYRCIA ARG JOTHO @RI G QRE AINIER dIP JOIRQ AILINg AR AINIA
QRReIg gOCRe @RI |

Options:

1) QIQ@EraIN

2) 69196 REF2AIR
3) ARGAGAIR
4) ARG

Correct Answer: 1) QRRF2IN

Candidate Answer: 3) (REAGTEIR

QID :3636- —— QU QUEIQ 9@ 6AIGIEAIC gm SRR QIRLIG @RAUIIREIN?
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Options:

1) 8@

2) Q| G

3) g

4) QRgQ4ae

Correct Answer: 3) q@

Candidate Answer: 3) q@
[echofworld.In

QID : 3637 - 6R6066R ‘T-66F” AIRRR FAUAIRLIN?

Options:

1) Y@ AI0YFF ARER PEREIRT JAIR T6Q

2) 99 04961 APIR6R HEREIeRT 9RIR 99Q

3) AOR R AFYER

4) Q@ (M9 AI0YRF AMPER HeLEen IR A6Q) B (A0R Ua AFIER)

Correct Answer: 3) J0® Ja@g AFYER

Candidate Answer: 4) Q@ (N® QIOIFF AMNDER PEFEIRRT QIR A6Q) B (A0R TR AAER)

QID : 3638 - J66Y6Q FAQYQ! 2IRRR 6208 ~—————1 696 IRFE A0 ?
Options:

1) G20 @4

2) Q4Iae el

3) o4

4) 69/q a1die

Correct Answer: 2) Q4de Q19

Candidate Answer: 4) 6¢/d 916

QID : 3639 - A6a6l AFAEA B ANIFA 686 IR JAIR PRI ?
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Options:

1) FeCloQ QR
2) PEEQ 2IRRA
3) AFGQ AIRRe
4) 6R60I5Q 2IRRe

Correct Answer: 4) 6066I6Q 2IQRE

Candidate Answer: 1) Fe(iGQ 2lRRe

Techofworld.In

QID : 3640 - J-66° 6208 1@ 2QRR JEIR1, 62GE 676 Q64! (AF)R)6q @AUAIRRN ?

Options:

1) 9@ QA Q6 2107 @091 AR IRAIPEA HRY Q6! 028 @ A8 0IRIg AFIRS GAK

2) 6AIRRIFNR PEHEINRIER AIPFIER 6aE AdYp AA0 2Idm RRRR 0I2Ig PSIRe KRS

3) 2IRFINEA QAT AIRHR FAR!

4) Q@0 (M@ QA 886 210a FAQI AR SIGFINGQ FEY 0-O! QB8 @ RIE IRIg ASINE @RQI) G ((AIRRINRS

—_—

PERIeR16R 21RAIR 604 AR O8O IR @AY CI9Ig ASIGE KRQ)

Correct Answer: 4) Q@< (9@ QI §iR6 2106 @AQI ARl 2IGAINGEA HOY 086 A28 @ IR FIRIg FTIRE

@091) G (6RAIRRINRS PELEIRIER RIPFIER 624 Adig @80 PIAR FALR P1PIg AFRE AR

o~

Candidate Answer: 4) Qa4 (Y@ QI8 886 2100 @I AR FIGFAIPGEA HEY 280! 082 & QIR P11 ATIRE
@091) B (6RAIRAINRD PERCIRNIER RIPFIER 6Ra Aig 280! 2IAR ARRR CIPIg AFIRE @RQ)

QID : 3641 - QAIQ AURINER APRY ADE -
Options:

1) e

2) leQd

3) @l

4) Qaealg aAg

Correct Answer: 1) €&

Candidate Answer: 4) QJ6aI§ AFg

QID : 3642 - 1@ Q@Q 22l @6 ' 671 9K FIR° BaQ JRe AR’ ?
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Options:

1) @8 QcEl VYER Ol @A AR G868l @RQ!

2) QI21 6210 ARG IRIP AREAR QI 6TPAIR 28 AR ARR QI 01 FAAER FPIRE AR @88l RRIA 6x1EE I8
Qe

3) A16 961616R QIR 6RIRGEM PI2! 1A ARLIA 62IRAIRR FIE
4) QRYYEQ AT IARER PAIKIR AGQ QID

Correct Answer: 1) @@ Q66 BALER O @A AL Q86 @R

Candidate Answer: 2) Q2| 621Q AR LIQIe AAQER @l 6TAIR 28l IR AR P 61 FAAER QIR AR
Q86 @RRIQ 6al6d RIRE FIE

[echofworld.In
QID : 3643 - ‘066 AJARG CIF 626160 @7 AFIR ARAN' 6208 I -
Options:
1) QaiQle
2) @@

3) 06l
4) 000,309 (QQIRA) G (gF)

Correct Answer: 2) Q@

Candidate Answer: 1) QQIQIQ

QID : 3644 - QAQRR 60 AR ANEPECR 2Q 26 RIQAIRT | FIRGE AIQ 68 AIRYE 0K 21667
Options:

1) AAGQ 60 6208 AQERQ G AUR’ 6RARE 2L,

2) AR’ 6208 P66

3) 26 QIQAIAT 62Q8 24,

4) '6AM696CY’ 6208 FIAR

Correct Answer: 1) QJ@Q 60 62QR AQERQ B AR’ 6RAR AL

Candidate Answer: 1) QJ9Q 60 6208 AQERQ G A’ CRAR AL,

QID : 3645 - ‘FIIRA (g4’ JI@Q 6MEle &7

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) FR1Q 6FIRE 6AQIAT

2) QRIRIZ QUL

3) sallaIRiel ALIG

4) g6aQ F9IQ

Correct Answer: 4) 460 A2/

Candidate Answer: 1) PR1Q 67126 64RI1A0

TechoﬁNoHdIn

QID : 3646 - RI2IQ JelFl 6REll JAUIER BF2 AR B 6RIRA APARS FQERI B AR ZRIPR BRI YERER
QARG 62IRAMI |

Options:

1) QRIPIRI QUL

2) sclQIQIel FIRIG

3) GIEPRIQ 67162Q

4) YR 67120 6QRIA0

Correct Answer: 4) Q1Q 66112 6dRIA%

Candidate Answer: 1) QilIRIel QUL

QID : 3647 - DGO 699 6mele J2I6¢1 QEPRI QUTIER 6MY2lem G J6Q BRI QR 6RYQ IR Rem ?
Options:

1) QRIRIS, QUL

2) 6lQQ QAR 2AIQITY
3) FAERIAER QIF

4) 4O/ SI6EFITINIG,

Correct Answer: 3) ¢I6RIQER QI

Candidate Answer: 4) AR Gl66PIAIILL,

QID : 3648 - Q1864 68P6Q AEREIRTA, 2RI QIR FIRYS 626 JAYIR 6REIPF JRIP FRIAIRIN|
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Options:

1) agg)

2) HI9Q10 gagIa

3) Q@64 YRIcef gagia

4) A 9QuEl

Correct Answer: 1) dgq

Candidate Answer: 3) Q@64 YQI60d 4R

Techofworld.In

QID : 3649 - RGO 604 MEIR/ @8 F66 AFIE A°QIa FI1dl ?
Options:

1) QRIQIZI QI

2) salldRIel (LI

3) CGIEFRIQ 6168
4) IR 67120 69RIA0

Correct Answer: 3) G&FRIQ 671620

Candidate Answer: 4) T@1Q 67120 60R106

QID : 3650 - ORGP 696 QAMIAT 66INRIRl ARIPE QIR 6RSIIRG?
Options:

1) Q2-QRI9Q

2) 622166

3) QOQ®

4) Qge°aiel

Correct Answer: 4) Qge°6l¢|

Candidate Answer: 1) Q4-QQI9Q
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QID : 3651 - A¢J6Q RAIRYR! @AGIY ALY G HYER FAARLR IFR AR B2 |
¢ 960 QI gal 2 Q8] A 6Q¢R

609 2RG2I IR AU6Q 27 *S

\Q° 6816 gRITF! QIR

d Q18 912 601 @61 g2l @I @fl2l|

6060 §a | - 61oR AgQ Q6L

YR 60219 1 9Q° GIA6Q

606! ¢{AQ 260RI Q@R, 6606Q6R AR
oI FAEQ AIE

Qe 21061 QAR Q1RQIQ 218

216 QF 6208 21

0121 671Q @K, 6C1Q FRA AGAT

A0 2@ ARG QAR 60617 QI G2
NOIER 9@ ZAQUREN QUER Q@

dRIIeQ aoig Q191 990 @RI @AIIRE ?

Options:

... 1echofworld.In

2)gaaqe
3) 6a- 6AIQ
4) 2792 g

Correct Answer: 3) 64df- 6dIQ

Candidate Answer: 3) 6d%- 6dIQ

QID : 3652 - Aeea F2ARLL @F0IQ AQQ G Hr6a FAAIRYR gga AR Faig |
¢ \96@ QA1 gau 21 Q8 A 696

692 2GR QU6 27 KO

\@° 6816 gRITE! QIgQEa

d QI8 QIS 61 @671 gJa @1 a2 |

6R60 ga | - 6o AFe gee

2@ 61621R | 9e° QIa6a

6P gda 26091 A8E, 6606R6R AR
og FrI6a QIR

\Q° 2IQ6Ig QeI QIRQIQ 28

AP QF 6208 AIFR

Q121 671Q 9K, 6¢1IQ FAR AGRT

A0 28 AR QAR 62461 2IAUF T
NOIER IR ARSI QIRER Q2

6R60 QAL AR QERININN IRINEQ 60487 ?
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Options:

1) aQI

2) Gp a@

3) Qg &l
4) 28] 28

Correct Answer: 2) 40 3@

Candidate Answer: 4) 2Q€) U6

Techofworld.In

QD : 3653 Aeea TR *F0Ig APY G Frea oalmaam gea aae dag |
6@ Qg gau 2 Qg 2R 6l

640 2RQI I QJ6R 2IF @I

@° 6816 RITP! QIge6R

q @18 Q12 651 Q671 g2 QI slie |

6960 Ga | - 1o AfQ Q6w

2@ 60219 1 \9Q° QIA6Q

690 AR 26AN ABE, 6I606R6R AR
oIf AEQ IR

Qe 21061g gEielea eIRqIa 2@

2610 Qf 6208 21FQ

G121 671Q @R, 671 TR AGIRT

43 2@ JIRe gFI8 6061 QA G2
N0I6Q 9@ AQAURE QIR Q2

66 352 @8 6RAIN6LIN @0 6mESem?
Options:

1) QRIRIE QUL

2) FRAEANLR 6QRIAG

3) ARG QUG

4) 4609 191§

Correct Answer: 1) QRIRIE QUL

Candidate Answer: 1) QRIRIZ QUL
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QID : 3654 - A¢)6Q QAIRYR AVIY ALY B HYER FAARLR IFR QAR @21 |
¢] 96@ gAIg Jal 2 Q8] UQ 6Q¢R

692 2002 ¥R QU6Q 27 @6

\Q° 6816 IRITR! QIR

d @18 9@ 62 Q61 gal @1 sl

6R60 da ! - 6lom age 6w

2R 65219 1 9Q° GIT6R

6°6! ¢fdQ 260 Q@E, 6060696R QR
018 AR IRE

Q° 21Q61G JEieIeR IRIR 217

2010 QF 6208 21

0121 6A1Q QF, 6AIQ PR AGA1T

A9 2@ ARG QAQ 6061 IRl G2
NOI6R IR AQUREN AUVER Q@

Y@ G10gRY

== Techofworld.In

1) QQTARGL! A
2) Qf

3) gm

4) AIL-AQRR

Q QEIaR |

Correct Answer: 1) QQTAINGEQl ACQGFR

Candidate Answer: 1) QARG ACAGER

QID : 3655 - Area FAARLR @R0Ip AQQ G HF6a FAIRYRI Jga AR Fag |
¢ 969 gaIg gau 21 a8l 2R 6QER

600 2RI ¥R QAU6Q 2IF KRG

99 6816 gRITD! QIgRea

d QI8 QIR 61 Q671 g QI Gli2 |

6960 ga | — 6o Age Qe

Y@ 60219 | 9Q° QIA6R

6RG gda 26091 ABE, 6606R6R QR
oIR AIIER QG

\Q° 2IQ8Ig Qéidlen PIRQIQ 218

2016 Qf 6268 2P

Q121 6A1Q QF, 6AIQ FAR AGIR1T

4% 28 AIRL QAA 62461Iq 2IQUA G2
NOIER IR ARSI AIRER Q2@

661l QRENQ IR 22T @612
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Options:

1) @F

2) 2eQ

3) oegee
4) IR

Correct Answer: 2) 2&@¢Q

Candidate Answer: 3) ¢2¢G@

Techofworld.In

QID : 3656 - A¢j6Q FAQRLRI AIQIQ ALY G Ael6Q FAARLQI IGQ QAR F2Q | IR RA AV CAIRAIAE
dIR GI6Pl PQ1 e AQOIQ AFQ P@1 266 IRIg FIFI B 60@1 Q6d 4@ PUAIRAIN | QI 608 AT MY ARV
AR F1I K R19Q 6QEH 266" 6ARIER 6300 QITY di YRl QJ6R AQ @R2IR | JRIZo A8 2RIQER GIEF
Q1A J2I91R QU1 AQ0IQ 99 P11 YRl AIRER A90IQ @16 R1! GIefl A1 AIEIR QAEQIS KREAR,
QAR 9Q° FIR §AQ! AR *AIAIRAN | 66FI Q1 QI RTE 66l QA GYR1Q AQ0IQ QGR QF FRIQ 24O | 98
RIQEIQ 9R2IQ I, 10% eMIRA°EY YOI6Q QeF ¥e° @1aq! Adle @2IF | deflg AKLER IQOIQ 2@ I
AN @g FRERI LI 60 IQOIQ RIP JR! ARRJQ! AR 62IRLRI A6Q ¥l IQOIQ AAAYQ A66'| \126a FaQ
aeQQ Q646 \Ie° AeQ 2IRER! QIR QQIGE GYIERRA \1g FrIG AYIEE 6RIRAN| YBAQ QIQEIQ CIEF AEQ A
AQ0IQ 2RYS J9TE AQ11 Gl A1 QT4 629IQ 2IQ Y@ I8 Q1R8] 6208 YLIQ @R6R QI 6RIRMI §Iae AIEQ
Qe AIRIR g0 @d 67 6R 6RIaMIQ 6AIP2IR G AR 9F @Q2IF | 12 Q&Y AIFiEa Fifl RQ1g AIRAINI AR ST
d06q 99ueIg @ @891 Ie° GIEFl PQ1g JASARIQ @ARIA @O IR0 Q88 | I8 QERIg a8 @89 dIE,
QARG AR “RFIF GI6ar" 6JIgIF PIF6R 9@ QIR QA @ARE | Y8 RIFI9AR 6 FaL 6208 d68R
JARIRAI, R91Q JENISIR QYA @A, QRN ARQTER FRI6 1e° RRAEEFRG! |

QER CIEF QO Q2R A1 684 2AQUIER?
Options:

1) AIBiQ AQE 2QCER

2) GAGI 2QAIR

3) YQIQ JRIRQ 6344 2Qalea
4) QAERIQ 9

Correct Answer: 3) \2IQ JeI2q 63¢ 2gaI6Q

Candidate Answer: 1) QIEiQ Q& 2QAI6Q
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QID : 3657 - fg6q QAR AQIP AQY G AEER G2AARLQ FR QAR G2 | AAGER RA MY RARFINT
IR GI6P R @ AQOIQ JFQ AQT 2166 | N2IQ FIPI B 6091 Q6d J&I @RIIIREIN | 2! 602 RY A QIR
AR A 9@ 1R 6Q 266 6IAIER 680AR I AR Y2 QUER FEA KR2IF | JLIBe A 2RINER GIEF
RY1Q Y18 O14, 990IQ 99 K11 2 QIER A90IQ Q1A A1 BIsFl A91Q AIEQ QU6LIS FREJER,
ARQLA ¥9Q° g AR AR RAIAIRAIN| GI6Fl 91 QIal FTe G6fl @8 1R AQ0IQ ASA QF AU RIS | 9@
PIREIQ A2 KL 10% 6M@L°6Y \0I6R REF Ie° R1@I HJIe @R2IF | CIeFIg AIRGER IQOIQ 2R I
RAIAN | B FQqR! 921 60 AQOIQ 2R JRI AIRRI AR1 62IRIR! A6Q 121 AQOIQ 2CRYA 2166'1 12Jsa FRY
d2ag Q646 9Q° ER1 ZIRHH| QIR QYIRS GYIERR 18 Fug RYITe 6RIR2IN | I9AQ RIREIQ SI6F Bga Jgr
daQOIQ 2@ 98 AQ11 SI6F AQ1 JQUE 629I1R ZIR & JFdl KIRE 6208 IRIQ @RER 9l 6RIRM Bae A9
Q8 QIR 96 @d 61 67 6RIRMIP 6AIPRIY G A GF @R2IF | 12 @6 AIFiea FiEl #Q1g AIRAIN | AR Sald
§o6a geasq @¢ @8lel 99° 6lefl Q1) JR8ANIA ARQI0 QA ZINEHe0 RE | Y@ QsR6ig Jaé @89l AR,
QRS AQRIQ "REIF GI66F" 60151 RIFIER Y@ IdIgA 210A @QaF | Y8 QIIena (6 8aL, 628 J6vq
JdRRIRA, P91 QEAICIQ AAFIQ @ER, @R1RAE, ARATER ARIS 1e° RRICEERE! |

ERIRM S@R AIGIQ /6 A8 aerg 4980 @Qay?

- [ echofworld.In

1) QA IQQ FYIAR @]

2) g aIes 9F @&

3) 840 9§

4) 2900100 *RQ PYIAQ &3

Correct Answer: 1) Q& IQQ AF e @&

Candidate Answer: 4) 200100 @Rq Ag9e @&

QID : 3658 - f¢6a F2AARYQ! AIQIP ALY B FEER TR IFQ AAQ T2 | AIAGER RE MY ERINFINEF
IR 6I6Fl Q1 9@ AGOIQ ARG PQ1 266" I2IQ FIG! B 6091 Q6d @l @AIIREIN | 2 648 RY A QIO
AR F1l 9@ SR 606l 266 6ARAIER 6GRRR IJY AR Y9I QU6a Aa @527 | 9LIB0 QI8 2IIRER GIEk
RIIR YR PO1T A90IQ 9P K11 QI ISR A90IQ Q1R A1 CIFl P91 AR AUELIT FREIOR,
AAear 9e° A1 dEQI diel @AIAIREIN | 6I6fl 991 IRl HTE 6efl @F 9291 AQ0IQ REa RF AUQ 2RYEA | 9@
PIREQ 9A2IQ QKL 10% 6RIRA°EY OI6R REF Ne° R186I HJIQ @R2IF | CIeFIg ARSER AQOIQ 2R I
RAUAN| &g FegRI Y21 6 A0IQ 2R JRI AIRYQI AR 62IRQI A6q Y21 AQ0IQ AARY R 2166 | 12Ea Fag
deag @66 ¥Q° FeR1 ZIRER| QIR QYIRS GUIERA 8 Aug RYIEe FRIRAIN | IBAQ RIREIQ GG Bga dge
AQ0IQ 2P JQES FA11 GIsFl PR QTS 62QIR AR Y@ JYS FINE 620E I2IQ §RER 29 6RIam Bae AIgIR
Q5L 218 96 od 6Q 6] 6RIAAIG 6aPaIR G QIS 4] @G2IF 1 92 o6 AIfiea AF Ra1Q AIR2IN | IR G
o6 9oUEIg K¢ ARQI 9Q° GIEFl AR JRSANIA RARIA @Ag 2INEiREl Q88 | I8 a6Rélig Jd @Al dIR,
QA AARIR “PAIA G66F” 6016 IF6A IR RIJIRA 2Ied @A8F | I8 QIJI9Aa N Aa 69a8 J69q
AREIRAI, RA1Q IRICIA AAYQ FRAQ, RIS, AAATER FRIE YG° RRACERG! |

"R CI66P'A QEREY @E1?
Options:

1) @R A6EERG!
2) J6Ex AEQIRI
3) OR1RQE

4) QJ6qIq AAg
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Correct Answer: 1) @7 460000

Candidate Answer: 4) QdeRlg 97

QID : 3659 - FgJ6a FARIRLR| AIQIP ALY B FYER FARYFN JEQ AR T2AP | AIAGER R AV EAIRAIRT
Al GI6Fl 991 99 AQ0IQ A8Q R91 266 | ¥IRIg FIFI G 601 Q6d JR! AAIAIRAN | Y2! 608 A A AIRCICE
AR F1) IR K19 636! 2166 6AAFIER 6FPRR QIJY AR 21 AJ6a HCa *R2IF | 9180 AIE ZIRINER GG
P91R 92Y91Q Q014 A90IQ 99 RR11 Y2 AR A0IQ Q16 Q11 GIsfl f91Q AEQ ATEAIS @REIFR,
AER2R \96° FIR AR AR FAUARAN | GI67 PR1 QIR HFE GI6fl RF 1R AQ0IQ AGQ QA FIRIQ ARYOF | 98
PIQEIQ A2 dI, 10% 6RIRL G YOI6a QRE ¥e° 18I die @R2IF | SIEFg AIRGER A0IQ 2RIe I
QRUAN| @Q IR LI 60 AQOIQ AR JRI AIRLR AQT 6RIAQI J6Q 121 AQOIQ 2ATAYIR 266 | \9e6a A6
deaQ QERYIS I9° dEQ 21960 QIR QYIRS GHI6REA 928 FrIg PYITEe 6RIRAIN | Y89 RIQEIQ CIek Bga A%e
QAQ0IQ 2@ J980 P11 GIEfl R JQEEl 62Q1Q 2R IR Jg6 QIR 6208 YRIQ @R6R 2l 6IaR! Bae G
Qg Q121@ 96 Qd 6] 67 6RIRmIg 6AIGRIF G AIKE gf @R2IF | Y@ 064 AIFiea T8 F1g QRN IOR SaId
06 9ouég @ @09l 9e° Giefl Q1R JRSaRIQ RARIR ag AINEIRG! QB8 | N8 aedlig JRs @RI dia,
QIAE ARIR “REIF Q66" 6JIGIA QIFIEA 9@ RINYRF 217 @6ed | 92 RIIFAQ o A 6208 J68R
JReIRAl, FL1Q YRR ARG @8, @R1RRS, BRATER FRI6 YQ° RRUEER!|

CIEFIRGT QIR 6100 ClI6EFD, AAGR 1R 9Q0IQ ____ QF FIQ 66115 |

Options:

.. Techofworld.In

2) AgRQ
3) @leg
4) argoa

Correct Answer: 3) @199

Candidate Answer: 1) QGQ

QID : 3660 - AgEQ FRAARLR! ANIP AQQ G AFI6a T2IARRI I AAQ B2 | AIREER RY MY ERIRFIRS
Al GI6Fl 991 99 AQ0IQ ARG P91 2166 | IRIg AIFI G 6091 Q6d QR AAIAIRAN | I2! 608 AY AY QRGOS
AIR F1:I IR R19R 6Q6l 266 6AAFNER 6GRRR YIY AR YL QA6 PER FR2IP | JAIBE AIE 2RIAER GIEFI
RO18 9291Q @10, A90IQ @9 AQ11 Y2l AIREA A90IQ Q16 RA11 BIEfl R€1a AIBQ AJEAIE @REAER,
GR2A 96° FI2 ARL! AR FAUARAN | 667 FR1 QIR AT et A JRIY1 AQ0IQ AR QA F1IQ 24O | 98
QIEIQ 9R2IR I, 10% 6MIR°6 OIER Q2R ¥e° @18 AFI@ @Q2IF | CIlIg AIREER AQ0IQ 2R)e e
RAUAN | R oAl el 63 QAg0Ig 2@ GRI ARSI A1 RIS A6Q 92 AF0IR 2ARYIR 266 | 92ER B
QA2QQ Q6RI6 I9° A2 AI9ER! QIR AYIFE CHIERR 92 ArIg AYITE 62IRRIN | YBAQ RIREIQ GIsFl EQ AGe
QAQOIQ 2@ J986 AG11 GIsFl RQ1 JQEE 62RIQ 2R @ JF8l RIRE 6208 Y2IQ @R6R 29 6Rlaml Rae AIYIR
Q6L QI21& g6 @d 6] 6] sRIMIG 6AIFRIG G ALl §F @RRIF | 921 064 AIFisq Fsl FR1g AIRRIN | AR sQIa
060 9Queq @F @AQ1 99° GIeFl AG1g JASARIA RAQIA QA ZIREiRc QER | 12 Asadig JRs @9l AIE,
QO AARIQ “RAIA GI66F" 6QIGIA QIFER I8 @IFYQF 2R @AaP | 92 QIJIQAR (6 3T, 6208 J68R
JdReIRAI, AR JYICIR AQFIR FERI, RIS, BRQTEE FRIS YQ° RRAEERT!|

OIFl PQ1 JQTG, e Q2T @ gl .
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Options:

1) gAe

2) Aado

3) 660 26RO Rl @6Q
4) OFQI 661IIR

Correct Answer: 1) &9
Candidate Answer: 3) 630 2IQEQGI Q& P6Q

Techofworld.In

QID : 3661 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

Diksha had been/ in a grumpy mood/ from she woke up.
Options:

1) Diksha had been

2) in a grumpy mood

3) from she woke up
4) No Error

Correct Answer: 3) from she woke up

Candidate Answer: 3) from she woke up

QID : 3662 - Select the word segment that substitutes (replaces) the highlighted word segment
correctly and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Manish was (very excite) about the trip.

Options:

1) very excited

2) very exciting

3) excite
4) No correction required

Correct Answer: 1) very excited

Candidate Answer: 2) very exciting
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QID : 3663 - A sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.

His story will change your perspective.

Options:

1) Your perspective will be changed by his story.
2) Your perspective would change his story.

3) Your perspective had been changed by his story.
4) Your perspective has been changed by his story.

Correct Answer: 1) Your perspective will be changed by his story.

Candidate Answer: 1) Your perspective will be changed by his story.

Techofworld.In

QID : 3664 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

Are you to quit the college or not?
Options:

1) planned

2) plan

3) plans
4) planning

Correct Answer: 4) planning

Candidate Answer: 4) planning

QID : 3665 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

the excellent reviews, the place was disappointing.
Options:
1) Also
2) Through
3) Despite
4) still

Correct Answer: 3) Despite

Candidate Answer: 3) Despite
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QID : 3666 - Select the word that is closest in meaning (SYNONYM) to the word given below.
Liberal

Options:

1) Progressive

2) Careless

3) Reliable
4) Unaccountable

Correct Answer: 1) Progressive
Candidate Answer: 4) Unaccountable

Techofworld.In

QID : 3667 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
Abolish

Options:

1) Abrogate

2) Annual

3) Condemn
4) Establish

Correct Answer: 4) Establish

Candidate Answer: 4) Establish

QID : 3668 - Select the word that is spelled correctly.
Options:

1) Circimspet

2) Circumspet

3) Circumspect

4) Cicumspet

Correct Answer: 3) Circumspect

Candidate Answer: 3) Circumspect
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QID : 3669 - Select the most appropriate 'one word ' for the expressions given below.
A person displaying aggressive or exaggerated patriotism

Options:

1) Chauvinist

2) Cannibal

3) Connoisseur
4) Convalescent

Correct Answer: 1) Chauvinist
Candidate Answer: 3) Connoisseur

Techofworld.In

QID : 3670 - Select the option that best expresses the meaning of the idiom or phrase given below.
Bite off more than one can chew

Options:

1) To do something that helps you get rid of stress, energy or anger

2) To say that a set of instructions or task is simple or easy

3) To do too much or take something on that is too difficult
4) To fight with someone for no reason

Correct Answer: 3) To do too much or take something on that is too difficult

Candidate Answer: 3) To do too much or take something on that is too difficult

QID : 3671 - SSA stands for

Options:
1) Sarva Shiksha Abhiyan
2) Shiksha Sampan Abhiyan

3) Sarva Sampan Abhiyan
4) Shiksha Sarva Abhiyan

Correct Answer: 1) Sarva Shiksha Abhiyan

Candidate Answer: 1) Sarva Shiksha Abhiyan
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QID : 3672 - Attribution theory became the dominant model in research regarding student motivation
in the

Options:
1) 1940s
2) 1970s

3) 1980s
4) 1950s

Correct Answer: 3) 1980s
Candidate Answer: 3) 1980s

Techofworld.In

QID : 3673 - is a linguistic activity in which one recognises the text and comprehend the
intended meaning.

Options:

1) Reading
2) Listening
3) Speaking
4) Writing

Correct Answer: 1) Reading

Candidate Answer: 1) Reading

QID : 3674 - is the sequence of incidents or events through which an author constructs a
story.

Options:

1) Plot

2) Theme
3) Setting
4) Style

Correct Answer: 1) Plot

Candidate Answer: 2) Theme

QID:3675-A__ provides exposure to the lives of great men.
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Options:
1) essay
2) biography

3) play
4) story

Correct Answer: 2) biography
Candidate Answer: 2) biography

Techofworld.In

QID:3676-_______ isusually a lyric poem of moderate length, with a serious subject, an
elevated style, and an elaborate stanza pattern.

Options:

1) Elegy
2) Ballad
3) Ode

4) Sonnet

Correct Answer: 3) Ode

Candidate Answer: 1) Elegy

QID:3677-_____ s afigure of speech in which a word or phrase is applied to an object or
action to which it is not literally applicable.

Options:

1) Irony

2) Symbol
3) Simile

4) Metaphor

Correct Answer: 4) Metaphor

Candidate Answer: 2) Symbol

QID : 3678 - Learners talk to each other and share their experiences and ideas related to the content
read. They share the meaning of the vocabulary with their peer group. Thisis_______ reading.

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) While

2) Post

3) Collaborative
4) Individual

Correct Answer: 3) Collaborative

Candidate Answer: 3) Collaborative
QID : 3679 - is the practice of collectlng evidence of student learning in terms of

knowledge, skills, values and attitudes through various means.
Options:

1) Information

2) Assessment

3) Tests
4) Assignments

Correct Answer: 2) Assessment

Candidate Answer: 2) Assessment

QID : 3680 - M. A. K. Halliday (1975) explained
‘Exploration in the functions of language'.

basic functions of language in his book,

Options:
1) seven
2) five

3) three
4) ten

Correct Answer: 1) seven

Candidate Answer: 2) five
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QID : 3681 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The popular image of a war hero is that of a rifle or machinegun wielding infantry soldier or a tank
man or a fighter pilot. A gentle physician with a stethoscope or a surgeon with a scalpel doesn’t
exactly fitin as a war hero in the general perception. No wonder then that many an awe-inspiring
feats of courage under fire by a galaxy of officers and men from the Indian Army’s medical corps
remain largely unknown. When the Korean War broke out in 1950, India dispatched a medical unit, the
60 Para Field Ambulance, comprising 346 men, including four combat surgeons, two
anesthesiologists and a dentist, commanded by Lieutenant Colonel A.G. Rangaraj. The unit and its
commander had quite an illustrious combat record by then. Raised in Secundrabad in August 1942,
60 Para had seen action in Burma during the Second World War as part of the 2nd Indian Airborne
Division. Its Commanding Officer, Rangaraj, as a lieutenant in 1941 had the distinction of being the
first Indian to make a parachute jump accompanied by Havildar Major Mathura Singh. He was then
the Regimental Medical Officer of 152 Indian Para Battalion which, along with 151 British and 153
Gurkha Para Battalions and other support units, had formed the first-ever Indian airborne formation,
the 50 Indian Parachute Brigade. He had his baptism of fire with the brigade during the Frontier Wars
of the North-West and later saw extensive action with it in the Imphal Plains against the Japanese in
1944 before being promoted and taking over command of the 60 Para Field Ambulance.

Give the meaning of the word, 'illustrious' in the context in which it is used in the passage.

Techofworld.In

Options:
1) giving light
2) avisual

3) a sample
4) glorious

Correct Answer: 4) glorious

Candidate Answer: 4) glorious
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QID : 3682 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The popular image of a war hero is that of a rifle or machinegun wielding infantry soldier or a tank
man or a fighter pilot. A gentle physician with a stethoscope or a surgeon with a scalpel doesn't
exactly fit in as a war hero in the general perception. No wonder then that many an awe-inspiring
feats of courage under fire by a galaxy of officers and men from the Indian Army’s medical corps
remain largely unknown. When the Korean War broke out in 1950, India dispatched a medical unit, the
60 Para Field Ambulance, comprising 346 men, including four combat surgeons, two
anesthesiologists and a dentist, commanded by Lieutenant Colonel A.G. Rangaraj. The unit and its
commander had quite an illustrious combat record by then. Raised in Secundrabad in August 1942,
60 Para had seen action in Burma during the Second World War as part of the 2nd Indian Airborne
Division. Its Commanding Officer, Rangaraj, as a lieutenant in 1941 had the distinction of being the
first Indian to make a parachute jump accompanied by Havildar Major Mathura Singh. He was then
the Regimental Medical Officer of 152 Indian Para Battalion which, along with 151 British and 153
Gurkha Para Battalions and other support units, had formed the first-ever Indian airborne formation,
the 50 Indian Parachute Brigade. He had his baptism of fire with the brigade during the Frontier Wars
of the North-West and later saw extensive action with it in the Imphal Plains against the Japanese in
1944 before being promoted and taking over command of the 60 Para Field Ambulance.

Which of the following is the most suitable title for this passage.

- T echofworld.In

1) The history of Indian para military forces
2) How Indian soldiers supported the British
3) The origin of India's Parachute Brigade

4) The heroics of A.G. Rangaraj

Correct Answer: 4) The heroics of A.G. Rangaraj

Candidate Answer: 1) The history of Indian para military forces
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QID : 3683 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The popular image of a war hero is that of a rifle or machinegun wielding infantry soldier or a tank
man or a fighter pilot. A gentle physician with a stethoscope or a surgeon with a scalpel doesn't
exactly fit in as a war hero in the general perception. No wonder then that many an awe-inspiring
feats of courage under fire by a galaxy of officers and men from the Indian Army’s medical corps
remain largely unknown. When the Korean War broke out in 1950, India dispatched a medical unit, the
60 Para Field Ambulance, comprising 346 men, including four combat surgeons, two
anesthesiologists and a dentist, commanded by Lieutenant Colonel A.G. Rangaraj. The unit and its
commander had quite an illustrious combat record by then. Raised in Secundrabad in August 1942,
60 Para had seen action in Burma during the Second World War as part of the 2nd Indian Airborne
Division. Its Commanding Officer, Rangaraj, as a lieutenant in 1941 had the distinction of being the
first Indian to make a parachute jump accompanied by Havildar Major Mathura Singh. He was then
the Regimental Medical Officer of 152 Indian Para Battalion which, along with 151 British and 153
Gurkha Para Battalions and other support units, had formed the first-ever Indian airborne formation,
the 50 Indian Parachute Brigade. He had his baptism of fire with the brigade during the Frontier Wars
of the North-West and later saw extensive action with it in the Imphal Plains against the Japanese in
1944 before being promoted and taking over command of the 60 Para Field Ambulance.

Which of the following battalions was not a part of the 50 Indian Parachute Brigade?

- Techofworld.In

1) 152 Indian Para
2) 150 Madras

3) 151 British

4) 153 Gurkha Para

Correct Answer: 2) 150 Madras

Candidate Answer: 2) 150 Madras
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QID : 3684 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The popular image of a war hero is that of a rifle or machinegun wielding infantry soldier or a tank
man or a fighter pilot. A gentle physician with a stethoscope or a surgeon with a scalpel doesn'’t
exactly fit in as a war hero in the general perception. No wonder then that many an awe-inspiring
feats of courage under fire by a galaxy of officers and men from the Indian Army’s medical corps
remain largely unknown. When the Korean War broke out in 1950, India dispatched a medical unit, the
60 Para Field Ambulance, comprising 346 men, including four combat surgeons, two
anesthesiologists and a dentist, commanded by Lieutenant Colonel A.G. Rangaraj. The unit and its
commander had quite an illustrious combat record by then. Raised in Secundrabad in August 1942,
60 Para had seen action in Burma during the Second World War as part of the 2nd Indian Airborne
Division. Its Commanding Officer, Rangaraj, as a lieutenant in 1941 had the distinction of being the
first Indian to make a parachute jump accompanied by Havildar Major Mathura Singh. He was then
the Regimental Medical Officer of 152 Indian Para Battalion which, along with 151 British and 153
Gurkha Para Battalions and other support units, had formed the first-ever Indian airborne formation,
the 50 Indian Parachute Brigade. He had his baptism of fire with the brigade during the Frontier Wars
of the North-West and later saw extensive action with it in the Imphal Plains against the Japanese in
1944 before being promoted and taking over command of the 60 Para Field Ambulance.

Who doesn't exactly fit in as a war hero in the general perception?

== Tachofworld.In

1) An engineer
2) A mechanic
3) A doctor
4) A soldier

Correct Answer: 3) A doctor

Candidate Answer: 3) A doctor
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QID : 3685 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The popular image of a war hero is that of a rifle or machinegun wielding infantry soldier or a tank
man or a fighter pilot. A gentle physician with a stethoscope or a surgeon with a scalpel doesn’t
exactly fitin as a war hero in the general perception. No wonder then that many an awe-inspiring
feats of courage under fire by a galaxy of officers and men from the Indian Army’s medical corps
remain largely unknown. When the Korean War broke out in 1950, India dispatched a medical unit, the
60 Para Field Ambulance, comprising 346 men, including four combat surgeons, two
anesthesiologists and a dentist, commanded by Lieutenant Colonel A.G. Rangaraj. The unit and its
commander had quite an illustrious combat record by then. Raised in Secundrabad in August 1942,
60 Para had seen action in Burma during the Second World War as part of the 2nd Indian Airborne
Division. Its Commanding Officer, Rangaraj, as a lieutenant in 1941 had the distinction of being the
first Indian to make a parachute jump accompanied by Havildar Major Mathura Singh. He was then
the Regimental Medical Officer of 152 Indian Para Battalion which, along with 151 British and 153
Gurkha Para Battalions and other support units, had formed the first-ever Indian airborne formation,
the 50 Indian Parachute Brigade. He had his baptism of fire with the brigade during the Frontier Wars
of the North-West and later saw extensive action with it in the Imphal Plains against the Japanese in
1944 before being promoted and taking over command of the 60 Para Field Ambulance.

Which of the following expressions used in the passage is an idiom?

= | @chofworld.In

1) machinegun wielding infantry soldie
2) awe-inspiring feats of courage

3) baptism of fire

4) distinction of being the first

Correct Answer: 3) baptism of fire

Candidate Answer: 1) machinegun wielding infantry soldie
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QID : 3686 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

If you can keep your head when all about you
Are losing theirs and blaming it on you,
If you can trust yourself when all men doubt you,
But make allowance for their doubting too;
If you can wait and not be tired by waiting,
Or being lied about, don’t deal in lies,
Or being hated, don't give way to hating,
And yet don't look too good, nor talk too wise:
If you can dream—and not make dreams your master;
If you can think—and not make thoughts your aim;
If you can meet with Triumph and Disaster And treat those two impostors just the same;
If you can bear to hear the truth you've spoken Twisted by knaves to make a trap for fools,
Or watch the things you gave your life to, broken,
And stoop and build ‘'em up with worn-out tools:

What does the poet asks its readers to do when everybody around you are blaming you for everything
that goes wrong?

=~ Techofworld.In

1) To be unperturbed and keep your calm
2) To get affected

3) Do something to change their opinion
4) To sit and cry

Correct Answer: 1) To be unperturbed and keep your calm

Candidate Answer: 1) To be unperturbed and keep your calm
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QID : 3687 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

If you can keep your head when all about you
Are losing theirs and blaming it on you,
If you can trust yourself when all men doubt you,
But make allowance for their doubting too;
If you can wait and not be tired by waiting,
Or being lied about, don't deal in lies,
Or being hated, don't give way to hating,
And yet don't look too good, nor talk too wise:
If you can dream—and not make dreams your master;
If you can think—and not make thoughts your aim;
If you can meet with Triumph and Disaster And treat those two impostors just the same;
If you can bear to hear the truth you've spoken Twisted by knaves to make a trap for fools,
Or watch the things you gave your life to, broken,
And stoop and build 'em up with worn-out tools:

What should one do when people doubt their abilities?

== Tachofworld.In

1) Prove them your abilities

2) Trust yourself and also consider that why are people doubt on your abilities
3) One should remain unaffected and do nothing

4) One should sit and cry

Correct Answer: 2) Trust yourself and also consider that why are people doubt on your abilities

Candidate Answer: 2) Trust yourself and also consider that why are people doubt on your abilities

QID : 3688 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

If you can keep your head when all about you
Are losing theirs and blaming it on you,
If you can trust yourself when all men doubt you,
But make allowance for their doubting too;
If you can wait and not be tired by waiting,
Or being lied about, don't deal in lies,
Or being hated, don't give way to hating,
And yet don't look too good, nor talk too wise:
If you can dream—and not make dreams your master;
If you can think—and not make thoughts your aim;
If you can meet with Triumph and Disaster And treat those two impostors just the same;
If you can bear to hear the truth you've spoken Twisted by knaves to make a trap for fools,
Or watch the things you gave your life to, broken,
And stoop and build 'em up with worn-out tools:

Identify the figure of speech in the lines : "If you can dream — and not make dreams your master"?
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Options:

1) Metaphor

2) Irony

3) Personification
4) Simile

Correct Answer: 3) Personification

Candidate Answer: 2) Irony

Techofworld.In

QID : 3689 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

If you can keep your head when all about you
Are losing theirs and blaming it on you,
If you can trust yourself when all men doubt you,
But make allowance for their doubting too;
If you can wait and not be tired by waiting,
Or being lied about, don’t deal in lies,
Or being hated, don’t give way to hating,
And yet don't look too good, nor talk too wise:
If you can dream—and not make dreams your master;
If you can think—and not make thoughts your aim;
If you can meet with Triumph and Disaster And treat those two impostors just the same;
If you can bear to hear the truth you've spoken Twisted by knaves to make a trap for fools,
Or watch the things you gave your life to, broken,
And stoop and build ‘'em up with worn-out tools:

What is the exact meaning of the word "imposters" in the context of the poem?
Options:

1) Deceivers

2) Helpers

3) Motivators
4) Teachers

Correct Answer: 1) Deceivers

Candidate Answer: 1) Deceivers
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QID : 3690 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

If you can keep your head when all about you
Are losing theirs and blaming it on you,
If you can trust yourself when all men doubt you,
But make allowance for their doubting too;
If you can wait and not be tired by waiting,
Or being lied about, don't deal in lies,
Or being hated, don't give way to hating,
And yet don't look too good, nor talk too wise:
If you can dream—and not make dreams your master;
If you can think—and not make thoughts your aim;
If you can meet with Triumph and Disaster And treat those two impostors just the same;
If you can bear to hear the truth you've spoken Twisted by knaves to make a trap for fools,
Or watch the things you gave your life to, broken,
And stoop and build ‘'em up with worn-out tools:

What does the poet asks its readers to do when they "watch the things you gave your life to, broken"?

== Techofworld.In

1) To stand up and try again
2) To accept failure

3) To sleep

4) To do nothing

Correct Answer: 1) To stand up and try again

Candidate Answer: 1) To stand up and try again

QID : 3691 - Which of the following statements is NOT correct about the nature of Mathematics?
ClIEie Q@ 9o TuMR FCmee AU 606 @ A0 g6L?
Options:

1) Mathematics develops the ability of induction
61510 6QQ8 FAGI ARG Q6Q

2) Mathematics develops the ability of deduction
GIEIe PeFe SAGI AREE Q6a

3) Mathematics develops the ability of generalization
650 ANIFRRE VAR FRH6 @6Q

4) Mathematics develops the ability of reduction
CIEIo PIARRE AFICI FRE0 K6a

Correct Answer: 4) Mathematics develops the ability of reduction
CIEI0 QIIRQE VG| DREE R6a
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Candidate Answer: 4) Mathematics develops the ability of reduction
G0 LIRS AIFIG! AREI0 @6

QID : 3692 - Which of the following is/are the advantage(s) of Drill work in Mathematics?

086 62 B QIFER RIMGE AUIQ 6REE QARIRS! 21662

== | @Chofworld.In

1) Learnt material can be retained for a longer time
AR AgNg 91d 9aa Adig sl ARAR

2) Drill work can be used to check memory of a child

gR QIF @ QUEAIE IMIR gO6IF AV @R MIF FAIKIRARS
3) Drill work is a good technique for beginners

oM Q1A 208R JQITH AIRE AR IS QAL 6RIEIR 2166

4) All options are correct

ag aq O«

Correct Answer: 4) All options are correct
ag aq 0@

Candidate Answer: 4) All options are correct
ag deq 0@

QID : 3693 - Which of the following is NOT a technique of teaching Mathematics?
RAMEE FrIQ 626 GIEIe ARIRIA 6FIEIR QEL?
Options:

1) Self study

q G

2) Assignment

Wel @lel

3) Rote learning
61 FQYI

4) Supervised study
QQlae 2gq

Correct Answer: 3) Rote learning
6QIQI G4

Candidate Answer: 3) Rote learning
61T S
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QID : 3694 - Making simple comparisons and classifications along one dimension at a time, and
identifying shapes and symmetries, are appropriate skills to acquire at this stage. According to
National Curriculum Framework (NCF) 2005, which stage is being in the above statement?

66115~ AFINER IR ZIER A2 AR RF! 6 AENAas @AQI Ie° 2IRIA B AAQAF! 826 @89, 12 gasa
QM @RQ AIG QALY 6RI6IR 266 | RIFT A0S QUERS! (NREILF) 2005 QAN ATEAIF AF 6°4 REI6R

... Techofworld.In

1) Pre-primary stage
gie-giefie oae

2) Primary stage
Jefie oqel

3) Secondary stage
FRIAR OR8

4) Higher secondary
QR FIIFS 08l

Correct Answer: 1) Pre-primary stage
die-gieifie 08l

Candidate Answer: 2) Primary stage
glefie o8

QID : 3695 - Which of the following is a characteristic of group work in Mathematics?
08960 AFR QI @ FARNEE AUQ 626 Y@ F661EEI 2872
Options:

1) Group should be homogenous in matter of intelligence

98 61§ SAAEA AFR AFQA 62 ABE

2) The purpose of group work must be adequately clear

are QIdY @ @Eae AdiIg AIEQ 4] 6291 @96

3) Exchange of ideas and opinions should take place efficiently
01Q B AGIAG FEAA AIRIR IR RERGIA AL 6211 ABE

4) All options are correct

aQ Geq O

Correct Answer: 4) All options are correct
ag Ing O@

Candidate Answer: 4) All options are correct
ag aq 0@
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QID : 3696 - Which of the following is a democratic and problem-centred technique in Mathematics?

GIEI06R PARES FIQ 6RE IR GEIRIRR B AAAY-6RE0 ISR 21662

== Tachofworld.In

1) Rationalisation
Jgee

2) Brainstorming
QURRIR AF]Q 2lIRle

3) Inductive reasoning
QqQ Pe 0

4) lllustration

21041 5Qél

Correct Answer: 2) Brainstorming
KRR AF)Q QIR

Candidate Answer: 2) Brainstorming
QLRI AR AR

QID : 3697 - Which of the following skills is required to be good at Mathematics?

cI606a AEmee AQ a4 6AIEIR QM 6201 2IQENa?
Options:

1) To have learnt all the facts and formulae in Mathematics

G806 A9 G2l B 9@ goq Sgel

2) To be able to do complex Maths problems

R60 G0 ANaYl gPg @8l mIG 98 62Q!

3) To be able to create and formulate problems though abstract thinking and logical reasoning
6l SgIRIAI G Y89 66 92 anayl gEg 9f FR9I 6 949g6 @I MG AR 624!

4) No option is correct

6aleld Sag O Q6w

Correct Answer: 3) To be able to create and formulate problems though abstract thinking and

logical reasoning
6lae BgrRIRI 8 JPge 09 92 AAaYl gog 9§ @8I G @4ede @RI MIE A8 624!

Candidate Answer: 3) To be able to create and formulate problems though abstract thinking and

logical reasoning
6RIGR DQRIRI B ] 09 I2 araYl gog 9§ #aeI 8 @1ede @el AIE A8 624!

QID : 3698 - Drill work in Mathematics can be done in which of the following manners?

68660 8n | A BEREE AUQ 604 JEIR1ER AUAIRARD?
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Options:

1) As an oral work

@ 66116 RIF QU6

2) As a home work

@ W6l @IF QUE

3) As a written work

e [eie @I QU6

4) All options are correct
Qg 9eq O

Correct Answer: 4) All options are correct
ag 9aq 0!

Candidate Answer: 4) All options are correct
ag 9eq O

Techofworld.In

QID : 3699 - Mathematics generates which of the following abilities?
GIEiI0 BEREIO FIQ 686 BIFIEI 4F @AUREIN?
Options:

1) Logical

08 d6PE

2) Linguistic
QUEIGIS

3) Historical
RELIQ AR
4) Grammatical
MR Q P

Correct Answer: 1) Logical
08 aere

Candidate Answer: 1) Logical
06 Aero

QID : 3700 - Which of the following structures in Mathematics includes concepts like limit,
neighbourhood or nearness?

cEI06Q RYME AUQ 606 I°AERIER A1Fll, A6RIET QI FRCREN QR AAUIRE Qg 2187?
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Options:

1) Topological structures
QGoe a°aea!

2) Order structures
Qiege aaon!

3) Algebraic structures
QRGIERT A°QAPR!

4) No option is correct
6al6ld Gag O g6d

Correct Answer: 1) Topological structures
QGoR QeI

Candidate Answer: 3) Algebraic structures
REIO1 QORI

Techofworld.In

QID : 3701 -
343136 ,,
3./49

What is the value of

3./3136
3./49

Q IR 62667

Options:

1)2

2) 3.6

3)4

4)8

Correct Answer: 3) 4

Candidate Answer: 2) 3.6

QID : 3702 - If 3472X is divisible by 6, then what can be the value of X?

G 3472X, 6 Q101 SQIRY, CI6RER X Q MY 6@667

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:
15
2)8
3)2
4)2o0r8

Correct Answer: 4) 2or8

Candidate Answer: 4) 2or 8

Techofworld.In

QID : 3703 - Which of the following statement about the given fractions is correct?
1.3/5

11.9/11

1. 7/9

IV. 5/7

FRYe AuQ 6R6E QRARSQI QGIre FRAER OK?
1.3/5

I1.9/11

. 7/9

IV. 5/7

Options:

D> >1>1V

2) =1Vl >l

3)N=>1>1V>l

Hl>IV>I1>1

Correct Answer: 3) II>1l1>1V>|

Candidate Answer: 2) [>IV >l >l

QID : 3704 - If the circumference of a circle is 88 cm, then what is the area (in cm?) of the circle?

Q0 9@ Qaa a8y 88 cm, Y2IQ 68GTR (cm? 6Q) 6R66?
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Options:

1) 616

2) 388

3) 154

4) 445

Correct Answer: 1) 616

Candidate Answer: 1) 616

TechoﬂNoHdIn

QID : 3705 - The area of a rectangle is 162 cm?. If the length of this rectangle is twice its breadth,
then what is the perimeter (in cm) of this rectangle?

605N 21NIO6RL Q 6IALTFR 162 cm?. AR 2IAP6/Q A 651 Y21Q 99 | QRYE, FI6R6m ILIE6RE Q AR
(in cm) 62667

Options:

1) 54

2) 77

3) 66

4) 56

Correct Answer: 1) 54

Candidate Answer: 1) 54

QID : 3706 - The height of a cuboid is one-third of the sum of its length and breadth. If its height is 6
cm, then what is the lateral surface area (in cm?) of the cuboid?

66lIcN 2RIQE A ARE! I2IA 666 G dg A A Q 9@ QE19/°6l. 4@ NI @PE! 6 cm 9\, PI6REM YRIA AIFR
6MQTR(cm? 681 ) 69607
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Options:

1) 432

2) 144

3) 216

4) 256

Correct Answer: 3) 216

Candidate Answer: 2) 144

TechoﬁNoHdIn

QID : 3707 -

x-y _1 . then what is the value of 6x-y?
¥+2y 2 BX +Yy

-
Il

a8 2V _1 soce XY g qau sase?
X+ 2y B BX +y

Options:

1) 3/5

2) 4/3

3)7/9

4) 6/7

Correct Answer: 3) 7/9

Candidate Answer: 3) 7/9

QID : 3708 - If the polynomial ax® + 6x% + 4x — 8 and x° — 7x + 2a leaves the same remainder when
divided by (x — 2), then what is the value of a?

A0 ax® + 6x2 + 4x - 898°%% - 7x + 2a 6ARRTRIA @ (x — 2) QIR FARR P6M AAIR 266 F6R , VIELEM a
Q IR 6R66?
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Options:

1) -4

2)4

215

4)5

Correct Answer: 3) -5

Candidate Answer: 3) -5

Techofworld.In

QID : 3709 -

If 1+1 - L then what is the value of p® — q3?

P 9 pP+q

A , 606@ p® - g° @ N4 69627

P q pP+q

Options:

Vp-q

2)0

3) Pq

4)1

Correct Answer: 2) 0

Candidate Answer: 4) 1

QID :3710- If x = 4,y = 2 and z = -6, then what is the value of x3 + y3 + z3 - 3xyz?

ARx =4,y =299°z = -6,6069 x> +y3 + 23 - 3xyz Q R4 660?
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Options:

1)6

2)8

3)0

4) 418

Correct Answer: 3) 0

Candidate Answer: 3) 0

Techofworld.In

QD : 3711-
a
2

a+b+c

If , then what is the value of N ?

w|oT

£
4

% , 606Q % Q SR 69607

2 E
L,

a
2
Options:
12

2)0

3)3

4)1
Correct Answer: 3) 3

Candidate Answer: 4) 1

QID : 3712 - A and B together can complete a work in 10 days. If A alone can do the work in 15 days,
then in how many days B alone can complete the work?

A 3 B Q62 66115 QIF1Q 10 BR6R6618 @8 AIRER. 16 A @52 15 806R QIATY @RAAIER, 6062 B NIRIRT 6260
GR6a QIF1 6611 @8 AIGIQ?
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Options:

1) 15

2) 20

3) 30

4) 60

Correct Answer: 3) 30

Candidate Answer: 2) 20

Techofworld.In

QID : 3713 - The price of an article is increased by 25%. If the new price of the article is Rs 12 more
than the old price, then what is the new price (in Rs) of the article?

6615\ B08 | QIF 25% QPMI. I8 BV Q Q&I QIF 9LIA JS QI 0IQ Rs 12 2@ @, 6669 G2 Q1A § (Rs 6Q)
6@60?

Options:

1) 48

2) 60

3)72

4) 36

Correct Answer: 2) 60

Candidate Answer: 2) 60

QID : 3714 - Rs 1000 is kept at simple interest at the rate of 10% per annum. How much amount will
be received at the end of four years?

QTR 10% aam g 6a Rs 1000 @6l G, 918 @d 66186Q AR ARCIE 6060 620?
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Options:

1) Rs 1800
2) Rs 1600
3) Rs 1500

4) Rs 1400
Correct Answer: 4) Rs 1400

Candidate Answer: 4) Rs 1400

Techofworld.In

QID : 3715 - A man brought 5 shirts of type A for Rs 600 each and 3 shirts of type B for Rs 1000 each.
What is the average value (in Rs) of each shirt?

@661 Q4@ A JRIQ1 5 G QI6 g604@ Rs 600 62 \9e° B g@Ia 3 & dI6 g604@ Rs 1000 6Q @8iem. 9604@ dI6' @
QQIIR Y (Rs 6Q) 6060?

Options:

1) 700

2) 750

3) 800

4) 850

Correct Answer: 2) 750

Candidate Answer: 2) 750

QID : 3716 - The three angles of a triangle are in the ratio of 1:2: 3. What is the value of the smallest
angle (in degrees)?

Qe o G6RIG 6RI8 Q2QAIE 1:2: 3. ool 6016 § 68607
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Options:

1) 20

2) 25

3) 45

4) 30

Correct Answer: 4) 30

Candidate Answer: 4) 30

Techofworld.In

QID : 3717 - O is the center of the circle and two tangents are drawn from a point X to this circle at
points M and N. If zMOX = 60°, then what is the value (in degrees) of 2 MNX?

0 6208 Q@ Q6@ 18° IR §9 X @ Q@ QM G N 89 g7 9aF gde 64l QInd. 46 2MOX = 60°, 6666 £MNX
6060 6297

Options:

1) 120

2) 90

3) 60

4) 50

Correct Answer: 3) 60

Candidate Answer: 1) 120

QID : 3718 - In DXYZ, X0 is the median and X0 = (1/2)YZ. If XZO = 35°, then what is the value (in
degrees) of 20XY?

DXYZ 62 X0 62Q& A1aell 99° X0 = (1/2)YZ. K& £XZO0 = 35°, 0l6@6m £0XY(Bg 6Q)) 6960 6297
Options:

1) 45

2) 55

3) 50

4) 60

Correct Answer: 2) 55
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Candidate Answer: 4) 60

QID : 3719 - The length of the three sides of a triangle are 25 cm, 29 cm and 36 cm. What is the
length (in cm) of the altitude to the largest side of the triangle?

666N QR @ 6RIT QIR & ME 62@I 25 cm, 29 cm \9&° 36 cm. HgR A QA QIg J6 ALe! (cm 63) 6960 ?

Options:

3)24
4) 25
Correct Answer: 1) 20

Candidate Answer: 2) 22

Techofworld.In

QID : 3720 - In APQR, £QPR = 22PQR and 2PRQ = 32QPR. What is the sum (in degrees) of the
smallest and the largest angle of the triangle?

APQR 68 £QPR = 22PQR \@° 2PRQ = 32.QPR. GgR & QL& 1&° FRof 6016 a (P 6) 6960 ?
Options:

1) 130

2) 140

3) 160

4) 100

Correct Answer: 2) 140

Candidate Answer: 2) 140

QID : 3721 - The science that is related to social activities is called as

64 AINIFR YREQ AIGFEQ AMRE FRING Q@I gl
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Options:

1) Natural science
Q0@ ARIe

2) Social science

a[a [[mgalla

3) Physical science
6Rlon QHIQ

4) No option is correct
6al6ld Goq a0 Q6w

Correct Answer: 2) Social science
ACIR ORI

Candidate Answer: 2) Social science
ane SR

Techofworld.In

QID : 3722 - Which of the following are aims for teaching science in school?

gR BRIEQ A0RINR A1 AR @652
Options:

1) Aesthetic aim

QIR MY

2) Intellectual aim

6QIR@ mA

3) Cultural aim

ArgoR A

4) All options are correct
ang Seq abe

Correct Answer: 4) All options are correct
ang Geq ade

Candidate Answer: 4) All options are correct
ang Aeq ade

QID : 3723 - Which of the following is an objective of teaching science at senior secondary stage of
schooling?

PIRYegRaa AR 606G SRR G AINAS KGR FRIER AI0RIRQ AEREY ?
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Options:

1) To attain desirable proficiency in the specialised areas of science

QIR F6a1TITE 6896 FIFE QG AR QI

2) To get students ready for the work related to specialized vocational courses like medicine,
engineering etc.

6AB0R, ABRAIG 640 F6aaIde QRARR 6aId AMEE @IF Alg SN gge aael

3) To make students acquainted with latest concepts and advancements in science

ARIPA APEAA QA IQ° 25e1Fa QIEPER SAIFa 866 @6e!

4) All options are correct

ang eg a0

Correct Answer: 4) All options are correct
ang Yag ada

Candidate Answer: 4) All options are correct
aqg Yap ada

Techofworld.In

QID : 3724 - Which of the following are the approaches regarding organisations of science
curriculum?

I. Process approach

Il. Constructive approach

lll. Hand-on approach

FHRQ WOIFQ YL AHF6Q HINGEYPNR FAUER 696 I80 QBR?
l. 9@Ql Q8%

Il. 0RFRR Q80

1l Ql126Q @0 ARE

Options:

1) Only |

caew |

2) Both Il and llI
Il 9@ 1l Q@i
3) 1, lland Il

I, 11~Qe 11l

4) Only Il
e Il

Correct Answer: 3) [, Ilandlll
I, 11~g@e [l

Candidate Answer: 3) |, Il and lll
I, 11~g@= [l

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

QID : 3725 - Which of the following is incorrect regarding teacher centred method of science?
SR 6000 AR A80 AMH6R IR A6RLE m?
Options:

1) This process emphasises more on need, requirement, interest and capability of students
R gR96 Q1IN geURR, J6URRINS), 2GR ¥e° OFFIR QAR AIZR 6RIQ &

2) It focus on telling, memorising, recalling information

21 G2 @2, 76l A6l, JPFERERIA AR 6T RER

3) The students are only passive listeners and receive the knowledge

Q1210 62eR QYR 66101 9Q° RIR AR F6Q)

4) The student participation in the class is very limited

Q196Q SRR 2°EIgREl g A1FE

Correct Answer: 1) This process emphasises more on need, requirement, interest and capability of
students
R gR96 Q1IN geRR, J6UIRRIS), 2GR Ne° OFFIR QAR AI9R 6RIQ &

Candidate Answer: 1) This process emphasises more on need, requirement, interest and capability
of students
R 9R0IC 812 gelen, J6aeaaE), 2Ige ¥e° QIR QA 2IR 601Q &

Techofworld.In

QID : 3726 - Which of the following is a principle of Discovery method of teaching science?
QRGET 626 QRIe 2IRgQ6Q IRA1G?
Options:

1) Principle of Play-way
PRI 66iRQI-a2l

2) Principle of logical thinking
6JIe QIR R

3) Principle of individual effort
geQ 960qiQ RR10

4) Principle of utility

RACHTA ARG

Correct Answer: 2) Principle of logical thinking
6dIge 621Q ARG

Candidate Answer: 2) Principle of logical thinking
6JIge QIR R
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QID : 3727 - In which of the following test, students are asked to demonstrate their learning
performance by engaging themselves in experimental and work activities?

AIRGE @8 aAIE, ANITN AAVIFRS 99° AIFR FAIL, HER6R 2F6 Q6a FIa gRIa AATAAUIGE gosie
QR gel 9?

Options:

1) Oral test

6cllgj@ Qs

2) Written test

@ejo aoual

3) Practical test
QieoIGe amal

4) No option is correct
6a161d Gaq A0e gew

Correct Answer: 3) Practical test
QIQQIae Il

Candidate Answer: 3) Practical test
QYIRIR@ Al

Techofworld.In

QID : 3728 - Which of the following evaluation is carried out at the end of a piece of instruction,
lesson or unit?

PEGERQ PG 2°¢l, IO Q RARCA 6E1T6R ﬁﬂ@ﬁi@ @él Gl@‘il&ﬁ’@ @Al 997
Options:

1) Formative evaluation
ORI ARYIOR

2) Summative evaluation
Q°dQ ARYIOR

3) Diagnostic evaluation
QUGG ARIAR

4) No option is correct
6aleld Bap abe ged

Correct Answer: 2) Summative evaluation
Q°qQ RYI0R

Candidate Answer: 1) Formative evaluation
F0RARR FRYIAR
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QID : 3729 - Science excursions, science museum and nature study are examples of which teaching
aid in science?

QHIR QA4 IR IR 9Q° gRD 616QTE FRIRA 6R6e SAININR ARIAC! ARIQRE?
Options:

1) Audio aid
elCEalae]

2) Visual aid
QQYIM 9Q

3) Activity aid
R9RId ARIDE!

4) Audio-visual aid
APG-RQIAIR Q100!

Correct Answer: 3) Activity aid
RA9RIA AaRIAQ!

Candidate Answer: 3) Activity aid
AISRIA ARG

Techofworld.In

QID : 3730 - Which of the following are the principles of lecture method?
A7Q @65 2ol A80Q ARR16?
Options:

1) The teacher should be aware of needs of learners

d90a aR1I21Q geAIRR AMRER A600R 62Q1 QB

2) The teacher must arouse interest in the subject and sustain in the mind of students

FReQ 296 YR 984, 2Ige QOINIEE 2@ 9e° &Rl fer Fa Qgee @

3) The teacher must take enough time to build mental pictures with new concepts, previous
knowledge, for better conceptual development

Qe AUREIGG FRI6 Aiel ARG 2AQEIR Q2 UKE!, JFeT] IR A2 AIRde 6946 F21a @59l adig aag,
60REE Q@

4) All options are correct

ang 9aqp a0

Correct Answer: 4) All options are correct
ang Yeg ade

Candidate Answer: 4) All options are correct
aqg @ag ade
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QID : 3731 - In the process of Anodisation, which acid is used as an oxidising agent?

216RIPINEATR IR, @61 21T 2FRIRT° 160Q 2I6@ Q1QPE g2
Options:

1) Conc. Nitric acid

fi80 RIpGe 9de

2) Dilute Sulphuric acid
60gcdIRTate 2446

3) Conc. Hydrochloric acid
(80 2IR6QleqIae de

4) Carbonic acid

RI0e de

Correct Answer: 2) Dilute Sulphuric acid
60RCARTARS 241EQ

Candidate Answer: 1) Conc. Nitric acid
80 RIRoe e

Techofworld.In

QID : 3732 - With increase in temperature, the kinetic energy of the particle .

QIAAIQI QRQ AIPEQ REIR| gOR (ATAM )Q 106 |
Options:

1) increases

Q8

2) decrease

QI

3) remains constant
arle Q6o

4) No option is correct
6al6ld Geg ade ged

Correct Answer: 1) increases

Q8

Candidate Answer: 1) increases

Q&
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QID : 3733 - Which of the following is correct regarding cells in human beings?
I. Muscle cell contract and relax to cause movement

Il. Nerve cells carry messages

Il. Blood flows to transport oxygen, food, hormones and waste material

A8EQ 6918 APIRER HEQ 6a6lE a0@?

I. 6061 6918 9§ F6R IG° ORIFERA AIREIER ARIF B9

Il. PIE) 6AMGPR QIP LR REQ

IIl. 2604, 614, 2A6FIR Ne° Q&Y AQIE ARQeR Qg JeI@6 g4

Options:
LI
2) 1,1

3) 11l |
4) 1,11, 1

Correct Answer: 4) |, 11, 1ll

Candidate Answer: 4) |, 11,1l

Techofworld.In

QID : 3734 - Hydrometers, used for determining density of liquids are based on
2RERIACRGHR, 0 QU6 G @Qeel 9eRgEea rp RIS dIt @996 g
Options:

1) Newton's principle
PACRQ 916

2) Bernoulli’s principle
EQQEIZRIR 016

3) Archimede’s principle
2IR6F60Q TG

4) No option is correct
6aleld Qag ade gee

Correct Answer: 3) Archimede’s principle
R0 P10

Candidate Answer: 3) Archimede’s principle
2IR6A60Q 916

QID : 3735 - Which of the following may be the reason behind sinking of Iron nail in water?

Q860 ROl FEIQ 9ORIQ ARER AFR 606 RIS 6RAAER?

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) Density of water is equal to density of Iron nail
JEQ ARQ ROl FEUQ ARYQ AR

2) Density of Iron nail is more than density of water
Q2 94 AR AEQ ARER OIQ 698

3) Density of Iron nail is less than density of water
P2 QEIQ ARG AR ARG OIg @A

4) No option is correct

6al6ld Aap A0 g6w

Correct Answer: 2) Density of Iron nail is more than density of water
P21 REIQ ARQ AR ARGA OIg 698

Candidate Answer: 2) Density of Iron nail is more than density of water
Qe @glQ Aeg JEQ ARga OIg 698

Techofworld.In

QID : 3736 - Which of the following element symbol pair are correctly matched?

PR 694 QUIRIRTA Jo1e 6018 JORIEe ARE?
Options:

1) Lithium - Li

M2l - R

2) Magnesium — Mg
Y65/ AA - 9@

3) Argon — Ar

AR - 2R

4) All options are correct
ang dep aOe

Correct Answer: 4) All options are correct
ang 9eg ade

Candidate Answer: 4) All options are correct
ang deg abe

QID : 3737 - Which of the following metals are refined electrolytically?

RARGO UIELYIRA FIIER 696 & 63Q1ORRER AREEIRE?
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Options:

2) Silver

Qdl

3) Nickel

feam

4) All options are correct
ang Y ad«

Correct Answer: 4) All options are correct
ang Geg ade

Candidate Answer: 4) All options are correct
ang eq ade

Techofworld.In

QID : 3738 - Sperm formation in human beings requires a

the normal body temperature.

CEIEQ FrIER €916 F10RR AR FR108 JRUFR IAAIRI 0IQ Q@R g6IRR |

Options:

1) higher body temperature than
0IQ 6Q81 6110 SIACIG!

2) lower body temperature than
0lQ FIQ1QQ YIACNQ| @l

3) same temperature as

afe QIAAIQI A&

4) No option is correct

6al6id Qep a0 Q6P

Correct Answer: 2) lower body temperature than
01Q SR LAY @

Candidate Answer: 3) same temperature as
aqe eIaaIQI At

QID : 3739 - Which plant hormone is responsible for witting of leaves?

606 QEQ PA6AIR U9 &QI AIR QII?
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Options:

1) Auxin

Glgr

2) Gibberellin
cleREme

3) Cytokinins
aeRe1Q

4) Abscisic acid
21904 9de

Correct Answer: 4) Abscisic acid
gIedde vde

Candidate Answer: 3) Cytokinins
deRe1g

Techofworld.In

QID : 3740 - Pons, Medulla and Cerebellum in human beings are part of .

AIRQERR6Q ARY, 6FIRRI NQ° 6AREARE] Qedl
Options:

1) Fore-brain

lalelal|

2) Mid-brain

ol -9y

3) Hind-brain

ag 749

4) No option is correct
6aled Yag a0 gee

Correct Answer: 3) Hind-brain
ae agg

Candidate Answer: 3) Hind-brain
ae a9y

QID : 3741 - Which of the following enzymes in human beings work in acidic medium?

A8IEQ 69260 PIQ 696 YPRIRA AITER FIRIFER @IF Q6Q?
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Options:

1) Trypsin

gIRASIe

2) Pepsin

6age

3) Lipase

mieedd

4) No option is correct
6al6id Saq a0 g6ed

Correct Answer: 2) Pepsin
6age

Candidate Answer: 3) Lipase
Miedd

Techofworld.In

QID : 3742 - Which of the following plants have bisexual flowers?

Age 694 QRIQ QERIAN(QIREIGIR) TR ARE?
Options:

1) Papaya and watermelon
AFPRE 6 0AQe

2) Papaya and Hibiscus
o8l 8 8@gia

3) Hibiscus and Mustard
999Q 9Q° 6210

4) Watermelon and Mustard
0OQR \99° 69I0d

Correct Answer: 3) Hibiscus and Mustard
Q994 \9e° 6910

Candidate Answer: 1) Papaya and watermelon
2AeREl 6 9eee

QID : 3743 - Which of the following carbon compounds has a triple covalent bond?

PORGE FITH QER Y@ TAR RINIIERY @8R ARR?
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Options:

1) Propane
edledq

2) Propyne
6QII0R

3) Propene
6Ql6aR

4) Propanal
edledam

Correct Answer: 2) Propyne
6gIdIRe

Candidate Answer: 1) Propane
6dledq

Techofworld.In

QID : 3744 - What is the power of convex lens of focal length 2m?

6TIRIR 63614 2 SR QAR ARG 61§ 6R667?
Options:

1) +0.5D
2) -0.5D
3) +2D
4) -2D

Correct Answer: 1) +0.5D

Candidate Answer: 3) +2D

QID : 3745 - Which gland in human body is responsible for secretion of growth hormone?

FIRQ 602Q 684 g7 69121 @A6FINR FLARER IR @ILY?
Options:

1) Adrenal gland

2PN 97

2) Liver

aQe

3) Pituitary gland
dgecia g

4) Thyroid gland

2IRGEAR G
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Correct Answer: 3) Pituitary gland
JdgeeIt gF

Candidate Answer: 3) Pituitary gland
dgesIa gF

Download Tech Of World App

Techofworld.In

QID : 3746 - Goitre is caused due to deficiency of .

GRGIE (BNEQ) __ QRA QIREQ 6LIR2IN |
Options:

1) Calcium
lmdael
2) Sodium
eQi@an

3) Chlorine
6R180

4) lodine
ARBQ

Correct Answer: 4) lodine
AIRGQ

Candidate Answer: 4) lodine
AIRBNR

QID : 3747 - Brass and Bronze are alloys of :

JOR \9e° QI Q gl
Options:

1) Copper
odl

2) Aluminium
apdeaa

3) Iron

Qe

4) Lead
Q4I(6me)

Correct Answer: 1) Copper
ol

Candidate Answer: 2) Aluminium
Apdcea
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QID : 3748 - Which of the following enzyme is responsible for digestion of carbohydrates in human
beings?

AIRQER26Q RIEAIRINGERE 2RI AR AFQ 694 INRIRA QI?
Options:

1) Trypsin
gIRAde

2) Pepsin
6agR

3) Amylase
(e[l

4) Lipase
miRedd

Correct Answer: 3) Amylase
(e[l

Candidate Answer: 3) Amylase
iR

Techofworld.In

QID : 3749 - Carboxylic acid reacts with carbonates and hydrogen carbonates to give rise to

Q 6991 ARl QI6TI2PRS 2de AP RIFERE I9° ARNEPIERR FIT6RSYPR AFFD G|
Options:

1) salt

Qe

2) carbon dioxide

RGP - OIR - AQRS

3) water

Q&

4) All options are correct
ang eq 20

Correct Answer: 4) All options are correct
afg Geg ade

Candidate Answer: 1) salt

neél
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QID : 3750 - is used for disinfecting drinking water to make it free of germs.

@191g g A8 PRg Y2l #1QIEFe FERIR At 4690 g
Options:

1) Baking soda

6Q&° 6QIG!I

2) Bleaching powder
@0° ARQ

3) Sodium hydroxide
61027 2RIYR

4) Washing soda
el edle!

Correct Answer: 2) Bleaching powder
Q0° Qe

Candidate Answer: 2) Bleaching powder
Q6° AQeQ

Techofworld.In
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